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Topic:- Child Development & Pedagogy (CDP)

1) A textbook portrayed boys as intelligent and leading characters while girls as meek and emotional. This is an example of Ay
YIIYRa® A aS! &) FFSA R TG T, Jafe asfeal St 79 3R UTa"THs ©u & fafya fean ag BT
IeTERU 7

1. Gender stereotype /ﬁmm
2. Gender discrimination / [T 9

3. Gender identity /ﬁquen

4, Gender sensitivity ASEESCEERINEGI

Correct Answer :-

« Gender stereotype /%”T‘@ 3 d a&_‘l

2) Two parallel railway lines of a track appear to meet after a certain distance. This is an example of ./ TP BIEG @ *® diq a

FHHIAR YeId W51 B oob fHerd] g3 faaTs Usdl ¢ | ST Tob Sarexul 2
1. Muller- Lyer illusion / fHER- @R YA

2. Illusion of perspective / TREIT YH

3. lllusion of movement / 7Tl YH

4. Optical illusion / EP YA

Correct Answer :-

« lllusion of perspective /Qﬁ%‘\’q vq

3) Autismis a ./ sﬁﬁww gl

1. Attention Deficit Hyperactivity disorder/ SAT1-HHId Sffaaferadr faer

2. Bipolar disorder/ %’ﬂ—qpf faeR (a]stn?ﬂ m

3. Oppositional defiant disorder/ fqueft 35S fapR (\thﬁfw fsthe ﬁ's@m
4. Neuro development disorder. / ﬂ{{‘r fard fasR

Correct Answer :-

« Neuro development disorder. / qﬁ faard fasR

4) A teacher can diagnose a child's consistent failure in school performance as: / T fQT&ﬁ?, faera & mﬂ' | Udh T B AR SRABAT BT
gaT fre U B o aehn

1. A concern needs to be escalated to higher management / 3 TSy b %Eﬁl?naﬁ aaﬁ P RIS %l
2. A disciplinary problem / 3{RITAATHD JHAT|

3. A learning disability or special education need / ST Sr2raadr o AR e ot W%l

4. A need to change school /ﬁwwﬁaﬁ W%I

Correct Answer :-

« Alearning disability or special education need / SITETTH 3r<raddT IT fa=I R Pt STawTHar 2|
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5) Blind memorization is called . / 3¢ TRUH (E'I'Ig.g ﬁﬁm) hodIdl % |

1. Recitation / H¥R UTd

2. Rote learning / e gRT AR
3. Meaningful learning / G{QﬁIUf SfeTH

4. Repetition / EJFIT@'&'T
Correct Answer :-

 Rote learning / e aRT 3Ty

6) Which of the following is the correct order in lesson plan? /Frafafea 9 &« ureasy aie= § 98 w9 %?

1. Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ W-W-EWUT - i - 8 ﬂﬂﬂa"\"l:f

2. Motivation-Presentation-Evaluation-Recapitulation-Home Assignment / W—W—W—WUT— e Wﬂa’gﬂ

3. Motivation- Recapitulation -Evaluation- Presentation -Home Assignment/ TRT- WUT -W—Wﬁf?f -8 Wﬂ
4. Presentation - Motivation -Evaluation- Home Assignment — Recapitulation/ Cl'ﬁﬁf - W—W- e Wﬁﬂa"\"ﬁ - W?F‘T

Correct Answer :-

« Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ Wﬂ-ﬂ?ﬁﬁf-gﬂqﬁﬂmﬁl - A - T8 Hﬂﬂ%ﬂq

7) The method of study used by Behaviorists was: /WTW GIRT U dd - Bt ugfa A
1. Survey/ gdefur

2. Introspection/ STHTRIETT

3. Case study/ W ws!

4. Observation/ SATIH

Correct Answer :-

« Observation/ 3l

8) The religion to which the individual child belongs is part of the ./ i o safarmTa = wafta _bpﬁlT % qg__ I fewan %I
1. Inheritance / TRITTCICT

2. Prenatal environment / WW

3. Social environment / JTHITEH TATGRUT

4. Physical environment / WW

Correct Answer :-

« Social environment / JTHISTE THTERUT

9) Personality tests must be/ Hfared wdteur A ﬁqT ?IT%'E:
1. Gender biased/ TeiTT T&fOTcT

2. Have as many questions as possible./ 3  3HfdH gy arar

3. Reliable and valid / f3%1a 3fR 9y

4. Innovative / TATARI

Correct Answer :-

« Reliable and valid / fa%=g 3R 3y
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10) During the process of child development, / T2 & fasra syl & ?fRT:f,

1. Specific functions are followed by general functions. / fafy m YT ST & 9T [ S %I

2. Both general and specific functions happen simultaneously. / FTHI 3R fafary aﬂﬁa‘ﬁ Uh 1Y Eﬂﬁ %I

3. General functions are followed by specific functions. / JTHR o, fafdy &l & e fPa s g1

4. General and Specific functions are not dependent on one another. / ITHT GﬁT m m@-ﬁ R AR qa%l

Correct Answer :-

« General functions are followed by specific functions. / HHI ara‘, fafery P & TIE [Hd S %I
11) Dalton Plan does not have:/ Sieed gl (37@7{ A1) | T'I'tﬂ%

1. Self-paced learning / TG g

2. Time table / THI-RUT

3. Co—operation/w

4, Freedom / Wd=dl

Correct Answer :-

« Time table / THI-GROf

12) Understanding what is right and wrong forms part of the development. IE: ] 3R T Bt GEED _b'.FIT, g ICEaRKal

few g

1. Cultural /m

2. Social / AT

3. Moral/am

4. Vocational / TG

Correct Answer :-

e Moral / EIRCA

13) According to Erik Erikson an individual goes through developmental stages. /'Qﬁa; 'Qﬂﬂ:l' * SR, Uh e
faeTaTaT® TR | SR ToRar g1

1.7
2.9
3.4

4.8

Correct Answer :-

14) How are learners who do a task with performance as the goal are characterized?/ &0 FETH W F Y Udh BT B 9
Rrenfial # fadrwar /32

1. They engage in work to do better than others./ d TR} § §gaR B & oI HTH & Jau g § 1

2. They see mistakes as an opportunity to learn/ J T BT WREA & TR & =0 H S@d % |

3, They want to be seen as smart and intelligent/ § SIS 3R FHZER fa@T dmgd B

4. They compare and judge their performance with others / J QORI & TTY 30 UG B} T I & AR FHB! STl B g |

Correct Answer :-

« They see mistakes as an opportunity to learn/ q A P W & TR & © 0 H g@d %l
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A child is unable to learn a new way to play Uno because he has already learned a different set of rules. What could be the reason for this? / T

gﬁﬁ@ﬁﬁ%ﬁﬂwwaﬂmmﬁﬁmﬁ%magmﬁﬁmﬁwmwél SHST T SR g Thdl
?

1. Spontaneous recovery / dgol Fﬁm

2. Retroactive interference / chﬁg@ﬁ SARTY
3. Proactive interference / 3‘@?{@ SARTY

4. Delayed effect / fqafead yua

Correct Answer :-

* Proactive interference / 3—@7111'@ SHRTY

16) A child says that his friend who is 5 feet tall may be older than his uncle, who is only 4 feet tall .This approach of interpreting age by height of
an individual can be attributed to a child in / U S gl § [ IAPT I Sl 5 VI I 8, I8 30 ITaT | q$71 51 qPal
8, 51t $ad 4 Bie da1 7 | fHdt safda #1 Sarg ot e F31 & g9 R H H 9 & g 8T &I wedr
71

1. Formal operational stage / 3Myenies Afeharee St
2. Sensorimotor stage / ToHex Srawi

3. preoperational stage / @W SHART

4, Concrete operational stage / Hﬁ Tfhard® sawi

Correct Answer :-

« preoperational stage /Ujﬂﬁﬂf{w HARIT

17) Which of the following does not negatively affect prenatal development? / e srs 11?:‘ _Eaﬁ ara faeTa #Y
TPRIES FY & TUIIT T8 a1 32

1. Caffeine / PP

2. Exercise / TATH
3. Alcohol / RRTd

4, Radiation / faf&Ror
Correct Answer :-

o Exercise / AATH

18) Which of the following is not a type of prelinguistic speech? frafafeadad Cac TP YPIR DI Mfifafes aia =|_Eﬁ %?
1. Cooing /W

2. Babbling / ISISTT

3. Telegraphic speech / ST HTHOT

4. Crying / AT

Correct Answer :-

o Telegraphic speech / Tt HTSOT

19) Which of the following is an example of fine motor skill? frafafeadds= Jp¥ TR BIRA BT Uh 3qIgrul %?
1. Climbing / de-l

2. Hopping /W HRAT

3. Running / ag:ﬂ

4, Writing / feram

Correct Answer :-
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o Writing / o/

20) What is the part of memory that stores previous experience? / w% HIde %WT LB SHqd &) TIEIT Bl %’
1. Procedural memory /WW gﬂﬁf

2. Non-declarative memory / RIS Wﬁf

3. Semantic memory / 3 Ef_g:jﬁf

4. Episodic memory /W (m) g{ﬁ

Correct Answer :-

« Episodic memory / TR (uftafe®) Wi?f

21) What is the term used to denote a thinking strategy that may lead to a solution, but also may cause errors? / Q'\‘ﬁ I fafy #) faefua

P & fore fore ufa o1 Iuah fpar wirar @ S ganeT Gt 8, g 9w Ffear oft gt wedt @2
1. Intelligence / §@'

2. Syllogism / FfaqaTad (RIcaiiTeH)

3. Algorithm / TETIRYH

4. Heuristic / WA (¥9d: TME)

Correct Answer :-

« Heuristic / WTHITA® (¥39d: =M¥)

22) What characteristics are depicted by permissive parenting? / \”lﬂtnw YTe-0901 gIRT HI4- ﬁ‘«ﬁﬂaﬁ fafa ﬁ?ﬁ %:?
1. High warmth, high control / 3o ITg, 3o 401

2. High warmth, low control / 3% 3018, 44 fAg=ror

3. Low warmth, high control / % ITg, 3= fAd=or

4. Low warmth, low control /ﬁ'{; Mg, ﬁﬂq ﬁREWT

Correct Answer :-

« High warmth, low control / 3o 3G, IGLAGRELI

23) Who among the following does not propose a developmental theory involving stages of development? /FafafRad I fFm e s

WU A 3 [Fera Rigia o) wga 781 fear?
1. Freud / /1S

2. Bandura / SIgRT
3. Piaget / o

4. Erikson / m:f

Correct Answer :-

« Bandura / S

24) Ppeople with linguistic intelligence possess? / ‘-qu'lé ﬁm ¥ YU sfeaal § -3t & gt %7

1. sensitivity to numerical patterns/ HEATHD q@ﬁ Fufa Hﬁ‘cﬂ‘«’ﬁﬂm

2. abilities to produce rhythms/ Td/dlel ERIEKARAEG|

3. appreciation of the forms of musical expressions/ Tifta &t sificafaaal & =i &t el

4. sensitivity to the sounds, rhythms and meanings of words/ %aﬁ, /AT 3R ecl & 3t & Ul Tag=hear

Correct Answer :-
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« sensitivity to the sounds, rhythms and meanings of words/ €af, qa/dTd SR Wsal & YT & Ul Hag=ierdr

25) What is the main purpose of state certification of teachers? / RI&® B I7sT THTUIYH 7 T YT I3 FIT 3?2

1. To exclude from the profession those who are mentally unhealthy/ S AFRIS U I 3R % G'_% Y CIRES PP ml

2. To exclude from the profession those not trained in pedagogy/ TRI&TRIRE ¥ URITE 8T B aTel o URN Y S8R - & fory |
3. To monitor the quality of teacher training institutes/ fRI&fc5 UfRI&0T TRIT &1 T[ural Bt AR BT

4. To provide for a uniform standard of entry-level teacher competency throughout the state/ Uﬁ I T Y TR & e
Il &1 U GHH HHD UaH H & |

Correct Answer :-

- To provide for a uniform standard of entry-level teacher competency throughout the state/ Eﬁ I T T TR & e
Il &1 U GHH HHD UaH H & |

26) CANCELLED
What is experiential education? / STJHATHD ﬁT&‘I‘I’ T %?
1. A curriculum with well defined students learning path / Teh UTGIhH forae st davg T BT B AT BT I|'|Tf EIRYILG] %l

2. An educational philosophy based on the idea that learning occurs through experience / Th Qs T== 29 fqaR WR siutid % f& sifermm, 3qYHdg
S A A G

3. It is learning through experiments / & &EW & T Y HfATH %l
4, Learning through continuous practice / AR 3T T ST |

Correct Answer :-

« An educational philosophy based on the idea that learning occurs through experience / Teh QA g 39 fdaR R siuia ? T aiftrmm , 3gHd
FAEH A G

27) CANCELLED

According to Maslow, which of the following needs are referred to as the Deficiency Needs? / Rl & SR, g smazgwarst 7 9 fra
FH P AIGHAT F Y A AT A1 32

1. Belongingness, Esteem, Safety, Self-actualisation / 3{I-TU, HI- T, GR&T, W—ﬁr@

2. Safety, Belongingness, Esteem, Self-actualisation / JR&IT, STUATT, HI=IT, Ir-fafs

3. Physiological, Belongingness, Esteem, Self-actualisation / W, S{UATY, HI-dT, mH-fafg
4, Physiological, Safety, Belongingness, Esteem / W, RET, YUY, {4l

Correct Answer :-
« Physiological, Safety, Belongingness, Esteem / ¥ AR, RET, YUY, {4l
28) CANCELLED

Which of the following describes relevance in relation to a new topic?- / fufafaa # 3 P TP AU fawg & Ty A yrsfiredr &1
quiq Har 82

1. The perception that something is worth knowing/ S fe £ SHA g %

2. A real life situation / Y IR Sita ot fRUfq

3. A story related to the topic/ fawg 4 4&fid te wart

4, Same for all learners in any context/ fopaft oft T o wadt frenfiat & LRI

Correct Answer :-

« The perception that something is worth knowing/ Sy i Waﬂﬁm%
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29) which of the following tests involves the analysis of stories and interpretations of the underlying personality? / m

udieron § | feed siafifga afdaa ot saifral ok arensit 1 fazevor wmfaa g 82
1. Thematic Apperception Test / TaST TS URI&OT

2. Ink-Blot Test / TTg-H/esT URI&T0T

3. Word Association Test / 2Teg TfY TR&UT (TS THIRIURH X2)

4. Story Telling Test / YT AT UT&0T

Correct Answer :-

. Thematic Apperception Test / fawg sTeaty uRiern

30) which of the following is correct sequence of motivation? / frafafea # @ o9 a1 sifiuRon &1 LEHED %?

1. Drive, need , goal directed behavior, goal achievement, drive reduction / Wﬂ?{, AHTIRID AT, d&T BEE deR, d&d G‘Wﬁf, Juie 81
2. Need , drive reduction, goal directed behavior, goal achievement, drive / 3TdRIh I, i 'Y, d&d IBERG] YdoR, d&d W@, PLUIT
3. Need ,drive, drive reduction ,goal directed behavior, goal achievement, / STARID I, EIUﬂ'c{, Ui BN, d&d RERG] deR, d&g REGIC]
4, Need ,drive, goal directed behavior, goal achievement, drive reduction / TdRID I, Q'Uﬁ?{, g ﬁﬁ'ﬁ]ﬂm’s’r\’, &g Gﬂ?ﬂ?d, mgﬂ

Correct Answer :-

 Need ,drive, goal directed behavior, goal achievement, drive reduction / HTIRIDdI, ‘;lUﬁ‘cI, SERAECRT deR, d&d dqdf&l, ‘;lUﬁE{‘s’m

Topic:- General Hindi (L1GH)

1) ueh 3R area

T W & 1P &,

S U@ W &

N WETR P o §
TN ANF TG U S
TR S ars Rifgat
T, 1, ol ok weIE
Eieckdl

g 1 $ad Tg 3AiPd &
o T 3 Y et

gAY O B iy Aorelt B
3R 9% TARY gaT # avd g
qfgrdt Y uiel W foRar &
3T TP S} BT HTT
TR 3% ¥ U

TP fIRaT B

ITG TR P UgHR T IR W 919 YR BT IR qa15¢
U: A WIEH F S1PA P ga-1 [pad F18 2

1. Had geft

2. Pad died

3. Ol

4. &ft SR F1ed g

Correct Answer :-

. U&ff iR e g

2) UEel Sierd! fiFed STaHaMRT §1 e fFeeR A 3dRR Th. I | SRR 7 1929 # gichigs F1 v& wiad! fiber it die” 3& iR 371 w9 &

! fren g9 F 351 it | UR T F TP BT A1eP B TUR TT6R 3514 U1 e Bt UehyT I8 | 39 A1CP & B8 M ST & &l

firem o 3 forw U1 U $evay H SIERR A I 999 FET UT-'UR UM HIS Talg AW 81 °T, NasR T8 o1, IHaer T8 A1 37 gaat Ioaird g

9t1 SRR A firewr & T & g wd #t ¢ T frew & Ifta & wew A arer-aean, sREATY R IR &1 sara g man srany T &

gﬁgnm?wnﬁmwﬁwmmqﬁWW|wWﬁMmmﬁm TH. @ | UgaT T U1- 'S § Gl & 7TH R @R, 3R
awda gl

IR TR B UGHR -1 YD T Y= BT Sk qaigu|
ULT: 30 & B Tt A 91T BT STBT T 82
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1. 9rgfed

2. R
3. qe

4, gAY

Correct Answer :-

3) Ugel Sierd! fired STAHeRT I ardl firera R A 3ERR TA. 11 SRR A 1929 # gichigs Ft U diad fbew ‘<t die’ 35t 3R 37 7= #

et e g9 B 3581 Wit | TR WTHT & TP ABIUY ATCH BT SR TATHR 814 U1 e BY UeH T 9915 | 39 ATed & B3 M sl &

firem & A frw U1 U $evay # SIERR A I 999 FET UT-'UR UM 1S Tdlg AW 81 AT, NasR T8} o1, Iaer a8 A1 37 gaat Ioad g

9t1 SRR A e & T & e wd # ¢ T frew & Iefta & wew A arer-aean, sROTY R IAREA &1 s9ra g T ey ST

gﬂ;ww?wnﬁmwﬁWmmﬁWW|wﬁﬁqﬁuﬁu@maﬁmqw@mmwm—‘%%qm%mwmﬁ,w
GICT A

I TN B UG - I T U= BT Sk gargy|
W SR fired & R 47

1. T TETGR SRR TH, R

2. 91, Ryt

3. ATAHYE

4. 3= .TH @M

Correct Answer :-

. M TEIGR SRR TH. A

4) g dieret e TTHSRT 99 aTd freeR & SRR T, 311 3R 7 1929 # gidfige &Y ts Siad! fhed o) die’ I siR STH 7 &

et e g9 B 3581 Wit | TR TTHT & TP ABIUG ATeH BT SR TATBR 3814 U1 e B UeH T 9915 | 39 ATeH & B3 M sl & Y

forem o A frw U1 U $evay A SIERR A I 999 HET UT-'UR UM B3 Tdlg AW ! AT, Nawr T8 o1, IHaer a8 A1 37 gaat Ioaid g

9t1 SRR A e & T & e wd F1 ¢ T few & Ifta & wew A aregr-dean, sRETY 3R IAREA &1 s9re far T ey ST

gﬂ:ﬁwmgawnﬁmwﬁﬁmmmqﬁWW|sﬂﬁﬁﬂﬁﬂgﬁmﬁmaﬁsﬂ@.W|mwm—‘%%@ﬂ%mwmﬁ,m
ared 21

IR TR B UGHR -1 YD T Y= BT SR qargu|
UT: I U e BT UehUT ST SMUR T74T UT?
L. A e d

2. 399 A P TRl
3. 998 AR ¥
4, URT TTHT & UH AIH O e

Correct Answer :-

o ORY ST & U B0 AT

5) Ugd! diedt fred STaHaRT a9 ard e R A SRR To. Rt 3RERR 3 1929 # gdigs ¥ te dierd! fivew <t gt Aft iR FF 77 &

et v g9 F 351 Tl | U ST F T ABT ATed B STUR THT6R S U fhed Y Ueh T I3 | 39 AP & B3 WA Sl & Y

firer o o 1T U1 U evay H SIERR A I g9 BT UT-'TUR UM HIS Tdlg AWd 8l 4T, MaBR 81 AT, THIBR 81 AT 37 I YB3 gHT

9t1 SRR A firew F T & e wad F ¢ g few & Wita & aew A arg-aaan, sREMTY 3R IREA $1 A9 a1 T Ay RT3

gﬁgnmgawﬁﬁﬁawﬁmquﬁWW|wmqﬁusﬁm@maﬁmqw.W|mﬂm?ﬂ-‘%%@%mwmﬁ,m
awa gl

UG T B UGB A1 IS T U BT I« I3

w: Farer e 9 S T ETER SRR SR Y drerdt R @ o e 862
1. 3% 3fftp g8

2.} S

3. SH A BIS Tal

4. T ARE

Correct Answer :-

. WEe
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6) U dad! fiFed TARSIRT g9 aTd fFeadR & SRR 0. ST SRR A 1929 # gidigs # tw St fivew ‘2t dle’ 3T iR 39h 79 &

! firen a9 F 351 Sl | TR T F TS AR AeP B MYR T1T6R 3514 U1 fhed Pt UehyT IS | 39 A1CP P B8 T ST & «f

firem o A fRrw 7TT1 U $evag A SIERR A I g9 FET UT-'TUR UM HI1S Tdlg AWD 8l 4T, NawR 81 o1, THaer T8 A1 37 g Iaid gt

9t1 SRR A e & M & e wad F1 ¢+ g ey & Wfta & wew A arer-aaan, sRETY 3R IAREA &1 sA9Ta g T ey SmRT

;ﬂgnm?wnﬁmwﬁﬁquﬁWW|wWﬁ%ﬁm@maﬁm@.W|mwm—‘%%qm%mwmﬁ,m
aea gl

I TR B UG - ID 7T U= BT Sk gargy|
U: Ugelt St feen 82

1. TAHART

2. 3 sfte oA

3. SH A BIS Tal

4. T gRES

Correct Answer :-

o SICTHSART

7) Ugeh diad! fred STawsRT S99 ard fireeR A SRR TH. ST SRR A 1929 ¥ gidigs &t UH dtadt fhed ‘< dle’ Tt iR ITp a7 &

Tt fre g 3 3581 Wit TR T & U ABRE ATed B SMYR TATBR I U e &Y UeH YT 9915 | 9 AIed & s M w4l &

firem o o 1T 10| U evey H SIERR A I g9 HET UT-'gUR U HIS Tdlg AWD 1 4T, MaPR 81 AT, THaBR T81 AT 37 I 3T gt

ft1 3ERR A v F T & Riw wd Ft ¢ gt few & Wfta § aew A arg-aaar, sREMTY 3R IR ST A9 a1 T4 A ST

%ﬂ;@mgﬁwﬁﬁﬁawﬁﬁquﬁWW|wmﬁugammaﬁmqw.mlmﬂmm-‘%%@%mwmﬁ,m
awa gl

IR T B UGHR 1A I T Y= BT SR qarsy|
WA Y T T A §2

1. 9IY-I1Y

2. H3RTA

3.R9R

4.t g

Correct Answer :-

8) Ugdl Starch fibed TAHSART 91 aTdt fFeradR A SRR 0. 1 ERR A 1929 # giddigs ¥ T diad fiver = die’ 35 ok S9h 79 &

St frer M & 3501 it IR THT & TP ABR ATed B SMYR TAIBR I8 AU e B UeH YT 9915 | 9 ATed & B3 M w4l &

firem o o 1T 70| U evey A SERR A I 99 HET UT-'UR UMY IS Hdlg dWd 8l 4T, MaPR 81 AT, WHIPR T81 AT 37 I 3T gHT

ft1 3ERR A v F T & e w@d Ft ¢ gt few & Wita F gew A arg-aqdr, sRAMTY 3R I ST A9 f6a1 T4 Ay ST

gﬂ;@?mgm?ﬁmwﬁﬁquﬁWW|s\qfﬁ»—cqﬁu"sammaﬁmqw.aﬁlmwm-‘éﬁga%mwmﬁ,m
awa gl

IR T B UGHR 1A I T Y= BT SR qarze|
W e &1 fdi wres 82

1. it

2. 3fTftd

3R

4, T

Correct Answer :-

9) Ugel Siad! fiPed STAHSIRT 391 T fireeR A SRR TH. T SRR A 1929 ¥ gicigs U diad! fvew ‘< de’ I 3R 376 7

At e 91 P 551 1l | IR ST F TP ABT A1eP B STUR T916R So14 U1 e Bt UehyT 915 | 59 A1CP & B8 A Ul & Gl

firer ¥ @ 1T U1 U e W SRR A IW I HET UT-'FHR U B3 GG AW@P gl T, MapR Tl AT, Tiasr a8 411 37 Jaa! e gt

4t ERR 7 fbew & T & forg T 91 ¢+ T | fvew & wwfia & wewt i arg-aean, gAY iR arafer o1 swauTa far Tar) sren oy &
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Topic:- Science (SCI)

1) If a person is not able to see an object which is at a distance more than 5m from his eye, then the power of the corrective lens should
be: /

e H1$ i ot it | 5 e F ifte g8 W fRUa o avg &) T A wem 781 8, 9 W=Nus o9 31 =i g arfee:
1.-0.2D

2.5D

3.-0.5D

4.2D

Correct Answer :-

« -0.2D

2) What is roughage? /V&FWTW@Q %'?
1. Vegetables sicseit

2. Grains / 3N

3. Fruits / ™ d

4. Food fibre / YRS 3T

Correct Answer :-

« Food fibre / XRIgad 3Tl

3) What is the principle behind the ball bearing? /

Iia JafT & WS w1 Rrgia 82
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1. Sliding friction is greater than the static friction. /ﬁ?_ﬂa:[ 'JW, Wide gu0 § 31 5

2. Rolling friction is greater than the sliding friction. /ﬁﬁm Ww_ﬂa ‘tTEfUTﬁ 3 aﬁT%l
3. Rolling friction is less than the sliding friction. /@ﬁ"i"'[ YT oh e are Oy 8 Eﬁ?ﬂ%l

4, Friction increases the speed of rotation. /Wﬁw CHRI | a_GTrI'IT‘ﬁ %I

Correct Answer :-

« Rolling friction is less than the sliding friction. /?- R WWG@W@W@W%I

4) What are the crops grown during the rabi season? /

T 19 & R B BHd SIS ol 82
1. Blackgram and soya bean /Eb—lﬁilef @T@Tﬂ@:{
2. Wheat and mustard / 7§ 3R TR

3. Maize and pigeon pea / HaT 3R 3REI

4. Paddy and cotton / YT 3R HUH

Correct Answer :-

« Wheat and mustard /])I—g&ﬁ?w

5) Sickle cell anaemia is a disease that is /

T PIRPT SRl T A 2 Lol
1. infectious / HhTHP
2. developed through vectors / W%mmﬂ%ﬁw

3. inherited / 3@%

4. non infectious / R HhTHD

Correct Answer :-

« inherited / &naa%

6) Stainless steel vessels are provided with copper bottoms because: /
RN WA & T 19 & SMYR F T1Y 3T 91 § Faifes:
1. It gives a good appearance to the vessel /uga?hﬁ 3res] foand %I

2. Stainless steel is a better conductor than copper/mﬁﬁ KICE] NEL o dgdr %icllﬁ;ch %I

3. Copper is a better conductor than stainless steel /EI'T\IJ'QT, TG K ot SNEL o Sg} Hdlgdh %I
4, Copper expands more than stainless steel /WIV'CR, WA WA P 3Uem mm%l

Correct Answer :-

« Copper is a better conductor than stainless steel /W, LT T Bl SINEL A dgR Hdigd %I

7) Select the correct unit of energy in terms of the unit of current. /

faggq ¥ 518 & Teu # Sl Ft udt go1s FTATA B

1. VAs

2. VA%s
3. V2As
4. VAs?

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

8) Which of the following is not the unit of work? /
Frufafea & & v ord # 518 T R

1. Newton metre /QE:TIﬁET

2. Joule / [T

3. Erg /W

4. Joule/second / Qﬁ/@%

Correct Answer :-

« Joule/second / Gjﬁ/@%

9) Electroscope is a device used to: /
FAFRRDIY SRV HT SUANT fobwt forg fopam wirert @:
1. Test the conductivity of a material /
T AU ST Il BT IR0 B & ford
2. Measure the current in an electrical circuit /
faggd ufay & ur1 &1 71em & ferg
3. Measure the voltage across an electrical appliance /
% fIggd Iuau R H diees &I 71 & o

4. Detect the presence of electric charge on a charged body /

T MARId Mo/ W faggd s o IufRifd &1 gar e & fag

Correct Answer :-

« Detect the presence of electric charge on a charged body /

T AR Mo/ W faggd s o IufRfd &1 gar e & fag

10) Earthquakes can never cause: /

Ybq & R Bt it 78 7€ &) W
1. Lightning and thunder / a%?r 3R AETS
2. Tsunami / ﬁ:ﬂjﬁ

3. Landslides / X
4. Flood /dlg

Correct Answer :-

« Lightning and thunder / ?‘l%(‘[ 3R AETSI

11) As mass is related to beam balance, the temperature is related to: /

o7 R soauT St e 9 Wetta gar 8, 3 UeR 9w @ Heita 8:

1. Kelvin / bfea

2. Barometer / SRIHICR

3. Thermometer / YAHIEY
4. Heat / $HSHI

Correct Answer :-

GET IT ON

Google Play
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« Thermometer / YHIHIER

12) The correct statement among the following is: / fadaa e HYF %:

1. Dry ammonia has no effect on litmus paper / J[&h AT T feeHy UR R SIS YHTE Tal usdl
2. Curd is basic in composition / E{Eﬁ e o &‘Im'q %

3. Solution of glucose in water is acidic / ot o Wfﬁﬁ &1 faagq et %

4. HCl is a weak acid / HC1 U G&d 3% &

Correct Answer :-

« Dry ammonia has no effect on litmus paper / 5P ST BT feery TR R P18 YHTE el usdl

13) The amount of heat produced in a metal wire depends on the: /

TS UTd & dR A IaTied 1 ) e A R ik w5t
1. Atmospheric pressure / W@T’ﬂt{ qld

2. Atmospheric humidity / aTﬂtl?:?ﬁ'q g

3. Atmospheric temperature / aT{FI@Fﬁ’q GG

4. Current passing through the wire. / dIR I yaIfed YRT R

Correct Answer :-

« Current passing through the wire. / dR I yaIfed URT R

14) Sugar can be extracted from its aqueous solution by: /

it Y 3w wielia Oia & 59 R grr Fresffa foar o g @:
1. Chromatography / PTG

2. Distillation / 3{THa-

3. Evaporation / CINERU|

4. Filtration / &

Correct Answer :-

« Evaporation / qrefiemRor

15) Calculate percentage of nitrogen in ammonium sulphate. /
SR Aethe § ATgeiod & Uia=Td &1 T B

1. 28%

2.36%

3.6.02%

4.21.2%

Correct Answer :-

e 21.2%

16) Sulphur and oxygen atoms combine together in the ratio of 2:3 by mass to form an oxide. What will be the correct formula of the
oxide?
[Atomic masses: S =32 u, O = 16u] /

B IR TR AT T RIS T & FIT SoqaT= gIRT 2:3 & 3UTd A TP ga¥ & A1 Waiford g1 1 sifaargs &1
TS G FT RN
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[URHTY] SHH: S =32 u, O = 16u]
1. 5,04
2.850,
3.50,

4, 503

Correct Answer :-

. SO,

17) Which type of energy transformation takes place when fuel is burnt? /

$ T 9 W fFH THR $T Sell SR gar 22

1. Chemical energy is converted into heat energy. / IS Go_\lﬁ, rexy i Wf b teraﬁ-‘ra ﬁ STt %I

2. Chemical energy is converted into mechanical energy. / RRIRIEED W‘T, Tifye Soif & ulkafda E:Pf STt % |
3. Heat energy is converted into chemical energy. / S B’»‘_\Sﬁ, IEHE Soit § uRafda B STt %l

4, Heat energy is converted into mechanical energy. / [ ] W'f, Tifde Sl & uRafda ﬁ STt %I

Correct Answer :-

« Chemical energy is converted into heat energy. / RS Sl , Suiig St & ufvafda Epf STt %I

18) Which one of the following will take the shape of an open container in which it is kept? /
fFafafea & @ w1 te g U § @A W IHST MTHR d a2

1. Lemon juice. /:ﬁ'ﬁﬁ 1

2. Ice cubes. / T & gﬁl

3. Chilly powder. / frf ISR

4, Oxygen gas. / Sffefior 9|

Correct Answer :-

« Lemon juice. / :ﬁqw |

19) Which of the following is weed. /
FrafifeT # 4 #19 SRuqar 31

1. Xanthium only / Had SHYTH

2. All the above / JTRId it

3. Grass only / &ad g™

4. Parthenium only / FHaq g

Correct Answer :-

« All the above / STRIad gt

20) Which is a set of transparent material? /
IRt " BT TP A HIH-A1 8?2

1. Water and air / T} 31;1? Bdl

2. Turmeric powder and water / geal URgex 3R U
3. Alum and water / fore St 3R Tt

4, Charcoal and water / TR 3R T
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Correct Answer :-

« Water and air / Tt sﬂ? Bdl

21) One of the statements made about the formation of soil is inappropriate. Identify the same. /
frdt & fmfor & ar ® fow 0w A @ Tw Srfa 81 s Sy 9ra B
1. Strong winds do not play any part in the erosion of rocks. /
IS gAY IgHI & Ferd & Hig YT a1 Furd €1
2. Fast flowing water carries big and small rock particles and these rub against other rocks. /
AT TEdT U, S 3IR BIE TS U bl A ST & 3R T 30 TSI A WIS WMo & |
3. Water gets into the cracks in the rocks formed during uneven heating. When the water freezes, it would widen the cracks./
ST A9 P SR S TSI & IR T U G SITaT 8 | S7a UTHT STH STl 8, < 399 3R 1St 81 St §
4. Due to the exposure to sun, all the parts of the rock do not expand and contract at the same time, cracks are formed and rocks break up. /

RS & U H 3 B BRI, TgH S T RTT BT IRRU 781 B1el & 3R FHM AR A I 4T H T 7 81 b HRU GXR § SIrell §
3R FgH e Wl €|

Correct Answer :-

« Strong winds do not play any part in the erosion of rocks. /
AT gAY TSI &b Ferd | HIs UftenT Tat T g1

22) is used for making mirrors. /

_ prvamdu s F e frar s @1
1. Silver / AT

2. Carbon / T

3. Sodium / WfETH

4, Sulphur / Hethy

Correct Answer :-

« Silver/dicl

23) Which acid is used in Storage Batteries which supply electrical energy? /
fagga Suf &t 3myfd B arel Wike Sl § g 3 BT IuaRT g 82
1. Nitric acid / TTSfe® 3

2. Hydrochloric acid / S3 SN 3T

3. Acetic acid / THIfee 3w
4. Sulphuric acid./ W SR

Correct Answer :-

« Sulphuric acid./ TeHRIR® =T

24) Which gas is pumped into plastic bags containing food items fried in oils and ghee so as to slow down the oxidation of oils and fats? /

e 3R O ° T8 gU wre verd F Wi AR § A iR a1 & SifRiie e &1 o $3 & o frw A &) wifea fpar smar 82
1. COy

2.50,

3.Np
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4. Hp

Correct Answer :-

oN2

25) What is the common name of chemical NaHCO3? / IS NaHCO; PT HTHT ATH HIT %?

1. Lime soda / T &1 TSl (A3H HIST)

2. Washing soda / %ms‘ P18 (aﬁm @I@T)
3. Caustic soda / PIReD ST

4. Baking soda / @ &1 g8 (é%ﬂ ‘v'h?:T)

Correct Answer :-

. Baking soda/@ﬁﬁ@_eﬂ (aﬁ')_r[‘vﬂ?ﬁ)

2) What is the name of the ion with the formula ClO37? /

A Cl0;~ T U T T ATH T 82
1. Perchlorate / URGRIRC

2. Hypochlorite / RHERESINES

3. Chlorate / FAIRC

4. Chloride / FARTSS

Correct Answer :-

. Chlorate / FARE

27) Which of the following is a disadvantage of improvised science lab apparatus? / Fafafea a3 s @

AP faqT= YRTRITEr SUSHRUIl & 51 &2

1. Easily available / ST IUA]

2. Provides cheap alternative raw materials /WWWWWW%I
3. Have good educational value / 351 ‘\?If\&lag HY EPH

4. Not durable / feprs :lﬁ

Correct Answer :-

« Not durable / CARS :lﬁ

28) Which of the following abilities is not a characteristic of a scientific problem solver? / fFrgfifEa & ¥ w19 W

&FT AP THT 5 D a1l B fa=waT 187 o2

1. Validation of results / ufkumal &1 el

2. Isolate and control the variables / @R} ®I PLED 3R Fifd e
3. Convergent thinking / SHERY fRfa=

4. Think aloud / 29I faaR S T

Correct Answer :-

. Convergent thinking / SRRY fda
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29) Which of the following is an example of inference? / fafaf@ad I s an SIHTE ('s"h) DI TP 3GIgrul
22

1. Cactus has modified leaves in the form of thorns. / a')_OIEF T ®icl & ©U H TUidid ufai Bﬁ?ﬁ % |
2. Tides are caused due to the moon’s gravitation. / SdR-HICT IgHT & WB‘:UT & BRI Eﬁ?ﬂ %I

3. Electrolysis of water produces hydrogen and oxygen gases on two different electrodes. / ST T ﬁi’gﬂ 3ggc &l

S{TT-3(ET AT S| UR BTIS o 3R SfeRfior TG &1 Jere HRal g

4. Electrical appliances only work when supplied with electric current. / ﬁ’qj’% JUHRU Had a8 BT B % KEI ﬁ’c‘fﬂﬁ
TaTg & 1Y 3ATYfcf &1 SIrett § 1

Correct Answer :-

. Tides are caused due to the moon’s gravitation. / SAR-HTCT ASHT P THATHYU & HRUT GIdT & |

30) Identify the lustrous non-metal. /
THBGR YT DI UG BH |

1. Phosphorous | BIEHRY

2. Carbon / &TeA

3. lodine / TG

4. Sulphur / elhX

Correct Answer :-

. lodine / 3TN

31) A pendulum makes 20 oscillations in 10 seconds, then the period and frequency of oscillation are respectively /
T Ugad 10 Hs B 20 S HaT 8, A S 31 gy 3R srafy won: §:

1. 2s & 2 s hertz

2.2s & s hertz

3. % s & 2 hertz

4. % s & 2 hertz

Correct Answer :-

o a5 &2 hertz

32) There are 20 naturally occurring amino acids. Out of these, 9 are essential and 11 are non-essential. What are essential amino
acids? /

wwﬁmﬁ%mﬁmmmw%sﬁ?lﬁﬁ%9maﬁvu SIS i &1 IR TR 3t am

1. It must come through diet / Y 3R F1 fexdT g1 =1
2. It is made in our body/WﬁﬂfUT_@:IﬁQ IR ﬁ_bpl?ﬂ%
3. It is more important than non-essential / g 3FTIRIS P Tl &MW@%%

4. Essential for body / TRR & oY A=

Correct Answer :-

« It must come through diet / 3@ WW%W@WW‘%Q


https://applink.adda247.com/d/XhqWf9lSap
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33) When we strike the membrane of a mridangam, the sound we hear is the sound produced by
the ./

T F A Bl el RugR aRa e, Mgusi i gag e srifffawfigl
1. membrane only / Fad fareelt

2. the drum stick / 9 Red

3. whole body of the instrument / $EHE &1 QX1 ™

4. body other than the membrane / f3Ical & 3farTar o™

Correct Answer :-

« whole body of the instrument / Eﬁﬂ? CACARETE]

34) If the secondary consumer receives 10 KJ of energy ,what would be the energy at the level of producers ? /

Tfe fgdtas Iuritaar 10 frais@ el U Far 8, | IATEH! & WR R Sl [Ppa-l ghit?
1. 1KI/ 1 fae@

2. 1000 KJ / 1000 faiera

3. 10,000 KJ / 10,000 faraiiela

4. 100 KJ / 100 faraiioqa

Correct Answer :-

« 1000 KJ / 1000 faraiiea

35) An electric current of 2A is flowing through a conductor for 10 minutes. What is the net charge of the conductor?/
10 e & RIT ve Tare® & Areaw A 24 F) fIgga yRT varRd B1dl 81 Yares &1 Yo 31w fba-n a2

1. 20C

2.1200C

3.0.02C

4.0C

Correct Answer :-

36) When the wrist watch shows 8.10 am, the odometer of the vehicle shows 8484 km. When the watch shows 8.40 am, the
odometer shows 8500km. What will be the speed of the car? /

Ife wars uSt Ya§ & 8.10 I HT IHY I 3 3N IH YUY aAT6T H1 3teiiiex 8484 fFt. Rwmar 31 afe ut gag &
8.40 F9 &1 Yy feard! 8 3R siteiier 8500 . fa@mar 8, @t ®R @ 7rat fopast gift?

1. 64km/h / 64 fopdi/eieT
2.32km/h / 32 fopHi/aeT
3. 16km/h / 16 fdi/der
4. 18km/h / 18 fai/EeT

Correct Answer :-

. 32km/h / 32 fHHiEer

37) 220V, 50 Hz ac is converted into 110V dc. The frequency of the dcis: /
220V, 50Hz Tt &Y 110V SRt § uRafda forar sirar 31 SRi #t smafay 8:
1.25Hz

2.50 Hz


https://applink.adda247.com/d/XhqWf9lSap
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3.220 Hz

4.0 Hz

Correct Answer :-

e OHz

38) CANCELLED

When a light undergoes reflection, the velocity of the reflected light is always: /
W9 U YHIR Hfafad & [ordr 8, Hfafafad ye=r 137 9 ug gan e:
1. Less than the velocity of the incident light / JTUfad UHT=T o 97§ HH

2. Equal to the velocity of the incident light / SMUfad YT & a7 & THH

3. Greater than the velocity of the incident light / 3Tufad UHT & AT J34fdeh
4. Depending on the material of the reflecting surface /Qﬁﬁﬁﬁw Cg UHT?fUT ﬁ“—hm%

Correct Answer :-

« Equal to the velocity of the incident light / 3Mufad YT & AT & THH

39) CANCELLED

Magnitude of displacement in one second is called: /

TP Qs # §1H aTa fIRITT F ufRkaATor 3 w81 91t 3:
1. Acceleration / <dRUT

2. Momentum / 34T

3. Speed / dTcl

4. Force / 9

Correct Answer :-

o Speed/dTd

40) Four different liquids such as mercury, water, soap solution and honey are kept in four different vessels. Which of them will
show greater temperature? /

TR -3 USTAT & R A URT, I, A1 fIaaeT 3R 216 31 TR SIeT-3aT Jed-t § a7 91T 3 1 S0 & BiF-a1 e arqas
@

1. Honey / RIgq
2. All will have the same temperature /H“-ﬁﬁww g

3. Mercury / URT

4, Water/q'lzﬁ

Correct Answer :-

« All will have the same temperature /mﬁmwmﬂaﬁ

41) Human ear can respond or sense the sound which has a frequency range /

HFa T, @ B G 9139 W ufaferar S awar g Rt smafr 4oft g 2:
1.2 Hz to 20 Hz / 2 BCol ¥ 20 BCol

2. 2Hz to 20 kHz / 2 8o 9 20 fordiigesl adb

3. 20 kHz to 20,000kHz / 20 fFages § 20,000 feraigds d&

4.20 Hz to 20 kHz / 20 891 § 20 foraiigest o
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Correct Answer :-

« 20 Hz to 20 kHz / 20 891 9 20 foraiigest adb

42) Identify the component of the biosphere that is biotic /
SqHUSd & Wfd® UeH Pt UgA PIorg

1. Soil / T&T

2. Air / &l

3. Living Things / STifad Ty

4. Water / STl

Correct Answer :-

« Living Things / SHfad a¥qd

43) Which group of organisms are not constituents of a food chain?
i. frog, snake, eagle, grass hopper, grass.

ii. grass, lion, rabbit, wolf.

iii. fish, plankton, grass hopper, man.

iv. snake, grass, tiger, wolf.

el 1 B AT TE W YA BT HICP TRI 32

i. ﬁﬁ, iy, g, ﬁé'[, LG

ii. 9T, TR, @, Afsan

iii. 7O, Wa®, feg, smeHt
iv. |7, 919, 919, Afean

1.iand iv/iGﬁTiv
2.iandii /i Wi

3. iii and iv / iii 3R iv
4. ii and iii / ii 3 i
Correct Answer :-

« i and iv / i 3R iv

44) The time difference between the actual sunset and apparent sun set is about: /
qreIfa® Ui SR SMHRTT Jaied & di" THg PT 3R AHT BT 8:

1. Half minute/ e fire

2. 2 minutes / 2 e

3. 5 minutes / 5 T

4.2 seconds / 2 4HS

Correct Answer :-

« 2 minutes /2 fiFe

45) Autotrophs synthesize 10,000 KJ of energy. If the food chain consists of four trophic levels what is the energy
available to the fourth trophic level? /

WIS (3TEIeIP) Hell & 10,000 fFaare &) Gl $d §1 afe e e # IR NidEdr (eifhe) W= 81d & o 1Y
qifdwar (eiftvew) R WR ot fba-t gt 82

1. 1KJ

2. 1000KJ


https://applink.adda247.com/d/XhqWf9lSap
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3. 100KJ

4. 10KJ

Correct Answer :-

« 10KJ

46) Technology should be used as a by the teacher for teaching-learning process. / ﬁT&rW-Sffﬂ‘Tq

upmF U e RegFEFgRI___ F U A Neie o1 3w v faar s afge|
1. tool / FUDBRTT (¢<T)

2. subject / [ao

3. substitute for teaching / e & ]%'I'Q IR

4. driver / dIclh (SIRAR)

Correct Answer :-

. tool / SUHRTT ()

47) During World Wars, massive industrial progress occurred. This shows that: / fay Qc?:f * EaTFI, E% TR W

3NeNfre wifa g3 1 98 axitar @ f:

1. Science responds to the needs of society. / O, TS @ Sa=admdrstt &1 ufdferdr gl
2. Science responds to the desires of society. / ﬁiﬂ:f, HHNST ﬁ%ﬁﬂ\?rﬁ ARG a_clT %I

3. Science works for the benefit of society. / ﬁ?l'l:f, U &b Y b ﬁ'l'q ST Bl %I

4. Science brings progress to society only. / ﬁ?‘ﬂ:f, PHad JHS H Wl S %I

Correct Answer :-

« Science responds to the needs of society. / ﬁ?‘ﬂ:f, OIS D TSB! bt ufdfehar &ar %I

48) A law describes a/an ./ T& fgw, T 1 quf< T 2|
1. set of interconnected principles / URTUR il @1 4e

2. abstract idea / G{Hﬁ ICEIN

3. single phenomenon / Tdh el YT

4. set of phenomenon / YcHl ® T

Correct Answer :-

. single phenomenon / T ¢ Yl

49) Which of the place is more safe at the time of lightning? /

afsa & aug Hi W wre Siftre yRfda 82

1. Open fields / T &=

2. Open vehicles / Eiﬁ CIREE

3. Inside a vehicle with all windows and doors shut / H“—ﬁm G'ﬁT [(REIN] g ?ﬂ@f dig- é? ’v'-ﬁﬁ?

4. Elevated place / T RIT

Correct Answer :-

« Inside a vehicle with all windows and doors shut / Hﬂ-ﬁ@@ﬂﬁv_@f 3R gy §¢ ard dlg- & iR
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50) Using a science park visit is an example of : / faT9 UT$ &Y =T BT, 39 AFATH T TP I8 vl g
1. Experimental learning / IR ST

2. Collaborative learning / AT D AfTH

3. Analogy strategy learning / HIERY oI SHfTH

4. Rote learning / HERI SETH

Correct Answer :-

. Experimental learning / RIS ST

51) Formulating policies, monitoring the effects of policies, enforcing compliance with the policies, demonstrating
accountability, making comparisons and monitoring progress towards goals are conducted at: / Hifeai CLIG]A

Hifaat & gural &Y PR @, Hifeat &1 srgures Ay H1, Saraes! elkia ST, o HeAr iR
et & ufa wrfa &Y AR @1 g wR s fard v 8¢

1. District Levels only / Had foTar TRl R
2. All of the above /Gﬂéﬁﬂlﬁ

3. National Levels only/mﬂ@ﬁﬁﬁw
4. State Levels on|y/%awwﬁw

Correct Answer :-

« All of the above /ijaamﬁ

52) An advanced technique to improve thinking and problem solving-skills comprises of decomposition, i.e.
breaking large problems into small units, is known as: / T 3R 9T B Wﬁ > Piva A JUR PP
e, ver S9a de-ie § faue UG € ot fr S1d soeal § 931 Inmsi &1 dis, 39 fA we1
ST 3:

1. Context-Based Learning/ Te-aneia iR
2. Computational Thinking/ SHYHAATHD <idT
3. Crossover Learning /va\?h?ﬂ Giﬁl"'l'q

4. Embodied Learning/mﬁ 3fRTH

Correct Answer :-

« Computational Thinking/ B AATHS i

53) Evaluation can be done for all of the following objectives, Except: / & Ryare, FAufeafaa g
Iexal F fore geuie= foran o 9dr 81

1. To know about the learning gaps in students. / B T fRTal & IR H S

2. To identify the students who require remediation. / 31 BT &1 UgAH BT foIg SUIR & MALIHT §

3. To get evidences to know the extent of a student’s learning. / o B & SfeH & a1 I & ﬁl’Q THTUT UT B
4. To give performance feedback to students. / BH & EI_C("Qﬁ IR gfafesar é?r

Correct Answer :-

. To identify the students who require remediation. / 3 BTl &1 UgAT BRI foig SUTR Pt ATIIHT §

54) Which of the following should a teacher avoid while encouraging students to develop problem solving skills? /

T 50 XA & DIl o [FHRid $37 & g ol 31 diefed #vd ¢ e @) Fufafea dd feaa
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1. Provide prescriptive hints to students. / B B MRS Hobd UaH BT

2. Encourage students to question. / BAI DI UY P P ﬁ‘l'q EhT\‘:IT%T‘[ DA

3. Design various types of problems. / st & A UeR &1 fSoe &A1l

4. Design problems to generate cognitive conflict. / HITATHD Ty Iqd B & fore T feo g PR

Correct Answer :-

. Provide prescriptive hints to students. / BHE B FERMTES Hobvd U™ HAT|

55) Elephantiasis is caused by: /

1. Worms / B1S

2. Mosquito / AR

3. Protozoa /Iﬁ'cﬁﬁﬁﬁﬂ
4. Bacteria / SFCIRAT

Correct Answer :-

« Worms /Hﬁ@

56) Megha scores well in physics. Sneha is equally good at the subject but is unable to score well in school. She is most
probably lacking in ./ TET A Wifaet ¥ orsd ofw T e | et ot 39 fawa o oft Iaeit &t ot @ aferm
faamera ® o 3w W R W eRywd 81 Wyad: a8 o 98 FUR ¢

1. Conceptual knowledge / GhegATHD T

2. Procedural knowledge / Ufbaradd® I

3. Factual knowledge / dHTHD AT

4. Metacognitive knowledge / RIS I

Correct Answer :-

. Metacognitive knowledge / HETHRITHIH®

57) Which of the following statements reflect a shift in pedagogy after implementation of NCF-2005? /WW-ZOOS

F F-ag- & gyt Fafaf@a § @ $19 31 Fu Rigm=ira o 9gara & giiar 82

1. Teaching should focus on specific disciplines./ fRreror 1 fafRry fawal R &am dhigd S a1y
2. Assessment should be continuous. / 3ffh el IGEGEY EPF'lT T’II%EI

3. The teacher guides and monitors the class. / R1erw pem & tl'lﬁa'gh 3R frdteror sran %I

4. Written tests are the only method of assessment./ faRaa qﬂ&ﬂ, 3H T Bl UhHTA fafyr %I

Correct Answer :-

. Assessment should be continuous. / 3T e RGN 6 Al EIT%'QI

58) Which of the following is false about audio tapes as teaching aids? / Fraferfad H A DA Rreror Ared & FUH
STt ¢u & fawa o 7rera 82

1. They can be reproduced easily. / 3% I T g U foran ST e %I
2. They are portable. / g dTel (En%a?l) aﬁ %I


https://applink.adda247.com/d/XhqWf9lSap

Adda
Google Play

3. They are expensive. / G Il?ﬁ Eﬁ?f % [

4. They can help visually impaired students. / J I Bl 3 Hag B gad %I

Correct Answer :-

- They are expensive. / 3 Il%ﬁ Bﬁ % [

59) Which one of the following Organic acids is present in Spinach? /
FafafEd & § o149 W1 SrA® o, Urde & U1 SI1ar 32

1. Tartaric acid. / TRCR® |

2. Malic acid. / Afciep 3|

3. Citric acid. / T3¢ 3|
4. Oxalic acid. / 3TqATfeT® 3|

Correct Answer :-

« Oxalic acid. / 3iToRITeI 31T |

60) Even though sponge is a solid we are able to compress it and change its shape. Why? /
T Wl TP 319 B, BH I HHRId B 3R ISP PR B geaq A W& g1 2
1. Particles in sponge are closely packed. / T4l & HU U Y H gl % I

2. Sponge is a pseudo solid. / ol Uh B3] 3 %

3. Sponge is a super cooled liquid. / T U Sfa-<had sa %I

4. Sponge has small holes with air trapped in them. / TS & BIc-BIc foxi H gar b giat % I

Correct Answer :-

« Sponge has small holes with air trapped in them. / TSl ¥ Ble-BIe [l o gar Bt et 71
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